MODU-LINE <<< Main menu




<<< Main menu MODU-LINE

I Systeme d’outils modulaires
mmmm Modulares Werkzeugsystem
mmmm Modular tooling system

Original system MODU-Line system

Systeme d'outils modulaires
pour tours automatiques

Modulares Werkzeugsystem
fur Langdrehautomaten

Modular tooling system for
sliding headstock automatic lathes

12.01




MODU-LINE <<< Main menu

BN | es avantages
s Die Vorteile
mmmm The advantages

Plus d’outils disponibles
Hohere Werkzeuganzahl
More available tools

Systeme d'arrosage efficace
Effizientes Kihlmittelzufuhrsystem
Efficient coolant supply system

Repositionnement précis, poussée axiale automatique
Prazise Nachpositionierung, automatischer Axialschub
Precise repositionning, automatic axial thrust

Possibilité de préréglage et de réglage de la longueur des outils
Voreinstellbar auf feste oder einstellbare Lange
Presetting on fixed or adjustable length

Systeme de fixation robuste et rigide
Robustes und starres Spannsystem
Strong and stable clamping system

Changement d'outil simple et rapide
Einfacher und schneller Werkzeugwechsel
Easy and quick tool replacement




<<< Main menu MODU-LINE

— ——
B [ndex I
| I
Adaptations disponibles pour les machines suivantes: Citizen - Hanwha -
Verfiigbare Anpassungen fiir folgende Maschinen: Manurhin - Metafil - 12.06

Available adapters for the following machines:

Star - Tornos - Tsugami

Porte-outils

Holders

TOP-Line 12.64  TOP-Line 12.74
ML12 TURN-Line 12.65  TURN-Line 12.76
_ jﬁ N »
IB @ T |2 ISO-Line 12.66  ISO-Line 12.77
} EVOCUT-Line > 12.68  EVOCUT-Line > 12.78
CUT-Line 12.69  CUT-Line 12.79
ML16 PRO-Line 1270  PRO-Line 12.80
[lj@ (@) @ °© OJ}/ 16 ECO-Line 1270 ECO-Line 12.81
f IN-Line 12.71

TOOLING-Line > 12.73

Modules d'arrosage et de serrage
Kihlmittelzufuhr- und Spannelemente
Coolant and clamping supply unit

12.82

Banc de préréglage
Voreinstellgerat
Presetting device

12.84

Piéces de rechange
Ersatzteile
Spare parts

12.86

12.03




MODU-LINE

<< MODU-Line

<<< Main menu

BN Adaptations disponibles pour les machines suivantes
mmmm Verfiigbare Anpassungen fiir folgende Maschinen
s Available adapters for the following machines

12.04

Fabricant Machine Adaptations Type Page
Hersteller Maschine Anpassungen Typ Seite
Manufacturer Machine Adapters Type Page
C12/C16 ML12-CITIZEN-C16 12.06
L12-1M7 ML12-CITIZEN-L12-1M7 12.07
L12-2M10 ML12-CITIZEN-L12-2M10 12.08
M16V/VIII ML12-CITIZEN-M16V/VIII 12.09
ML12-CITIZEN-R04-QTF3101-3T 12.12
RO4 ML12-CITIZEN-RO4-QTF5008-4T ML12 o
ML12-CITIZEN-RO4-QTF5108-4T
Citizen ML12-CITIZEN-R07-QTF4008-5T 1213
ML12-CITIZEN-RO7-QTF4108-6T
RO7 ML12-CITIZEN-RO7-QTF4208-3T 1214
ML12-CITIZEN-RO7-QTF4608-4T
K12/K16 ML16-CITIZEN-K16 12.15
L16/L20-5M1/5M7 ML16-CITIZEN-L20 ML16 12.16
::ggg;;g%mgx_1wo/ ML16-CITIZEN-L20E 1217
XD20M ML12-HANWHA-XD20M ML12 12.18
Hanwha SL12/16 ML16-HANWHA-SL12/16 ML16 12.19
ML16-KMX26-DUO
Mananrin  KMX424/s2s/62t/ S o, Mie 1220
Metafil D3/D10/D13 ML12-D10-3T ML12 12.21
SB-12RG ML12-STAR-SB-12RG 12.22
SR-10J ML12-STAR-SR-10J 12.23
SW-12RII ML12-STAR-SW-12RII-2T ML12 12.24
ML12-STAR-SW-12RII-8T
SA-12/SA-16/SA-16R ML16-STAR-SA-16 12.25
SB-16 ML16-STAR-SB-16 12.26
SB-16/20RG ML16-STAR-SB-16/20RG 12.27
SB-20C/E ML16-STAR-SB-20 12.28
S SR-16R/SR-20R/SR-20RII ML16-STAR-SR-20R 12.29
SR-20J/SR-20RIII ML16-STAR-SR-20J 12.30
SR-20JI1-A/B ML16-STAR-SR-20J11-A/B =0 ML16 12.31
ML16-STAR-SR-20RIV-2T
SR-20RIV 12.32
ML16-STAR-SR-20RIV-6T
SR-32J ML16-STAR-SR-32J 12.33
SV-12/20 ML16-STAR-SV-12/20 [new | 12.35
SV-20R ML16-STAR-SV-20R 12.35
i ML16-STAR-SW-20R-2T o

ML16-STAR-SW-20R-6T



<< MODU-Line

<<< Main menu

I Adaptations disponibles pour les machines suivantes
mmmm Verfiigbare Anpassungen fiir folgende Maschinen
mmmm Available adapters for the following machines

MODU-LINE

Fabricant Machine Adaptations Type Page
Hersteller Maschine Anpassungen Typ Seite
Manufacturer Machine Adapters Type Page
ML12-DEC0O10-DUO
DECO7/10 - EvoDECO 10 12.37
ML12-DECO10-JET
ML12-SWISS-NANO-2T 2
SWISS-NANO /SWISS-NANO 7 ML12-SWISS-NANO-3T ’
ML12-SWISS-NANO-6T LT 12.38
SWISS-NANO 7 ML12-SWISS-NANO-4T 12.41
DT13 ML12-DT13-2020206-9T 12.42
CT20 ML12-CT20-2020019-7T 12.43
ML12-GT13-390224-5T
GT13 12.44
ML12-GT13-390223-7T
ML16-GT26-386210-5T
Tornos GT26 12.46
ML16-GT26-386209-6T
ML16-GT32-389210-4T
GT32 12.48
ML16-GT32-389209-5T
ML16-DEC0O13-DUO
DECO13- EvoDECO16 12.50
ML16-DECO13-JET
ML16-DEC020-DUO ML16
DEC020/26 - EvoDEC020/32 12.51
ML16-DEC0O20-JET
ML16-S20-DUO
SIGMA20/32 12.52
ML16-S20-JET
ML16-SWISS-ST26-DUO
SWISS ST26 12.53
ML16-SWISS-ST26-JET
DT26 ML16-DT26-2020206-7T 12.54
B074 ML12-B074-1-6T 12.55
B075 ML12-B075-1-8T 12.56
) ML12-P034-1-5T 12.57
Tsugami ML12
ML12-P034-1-7T 12.58
PO34
ML12-P034-2-4T 12.57
ML12-P034-2-10T 12.58

12.05




MODU-LINE

s Citizen C12/C16

<< MODU-Line <<< Main menu
+ 2 outils (max 8) —_—
+ 2 Werkzeuge (max 8) ML12 ==
+ 2 tools (max 8) ]

Outil 112 mm possible avec module de serrage
Werkzeug [Z112 mm mit Spannelement mdglich
Tool 1 12mm possible with clamping unit

Module d’arrosage (prend la place d’un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

Arrosage intégré
Integrierter Kiihlmittel
Integrated coolant

Accessoires
Zubehore
Accessories

12.06

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-CITIZEN-C16 ML12 >12.63 ML12-FIX-12/14 ML12-JET-5/16 12.82



<< MODU-Line <<< Main menu MODU-LINE

—— + 2 outils (max 8) —
Emmm Citizen L12-1M7 + 2 Werkzeuge (max 8) ML12 s
[ + 2 tools (max 8] —

© o © o ©
T\
ofloflof|lof|o||o| o[

[ ™ ™ ™

a1y -
©)© 00000000

©
©
©
©
©
©
«

@

00000000

©®
©)
©)
©)
©)
©@

A
A
0
o)

—+11.5
‘14‘14‘14‘14‘14‘14‘14‘
Accessoires
Zubehore

Accessories
Porte-outils Pages Module de serrage Module d'arrosage Page
Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-CITIZEN-L12-1M7 ML12 >12.63 - ML12-JET-5/16 12.82

12.07




MODU-LINE << MODU-Line <<< Main menu

__ + 3 outils (max 10) I
mmms Citizen L12-2M10 + 3 Werkzeuge (max 10) ML12 s
— + 3 tools (max 10) —

[T
m@t@

[e]

EEEREERERRLEN

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-CITIZEN-L12-2M10 ML12 >12.63 - ML12-JET-5/16 12.82

12.08




<< MODU-Line <<< Main menu MODU-LINE

I + 2 outils (max 7) I
B Citizen M16 V/VIII + 2 Werkzeuge (max 7) ML12 s
— + 2 tools (max 7) [

|
© el
@ el
@

©
©

o] o o] o] o o] i i

o o o o o : :

22 [16.316.3]16.3]16.316.3]16.3 gi
— L J

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-CITIZEN-M16V/VIII ML12 >12.63 - ML12-JET-5/16 12.82

12.09




MODU-LINE

s Citizen R04

<< MODU-Line

+ 1 outil ([max 8)

+ 1 Werkzeug (max 8)

+ 1 tool (max 8)

12
12
12

O
° ©
° ©
s © ©@
[© VO

+2

<<< Main menu

]

ML12 ==

]
+0.5 *2 -
T T® @ el
IR . el

12 H. - » ell| |

12 o 2 ©@ ©» e}

ML12-CITIZEN-RO4-QTF5008-4T

ML12-CITIZEN-RO4-QTF5108-4T

Accessoires
Zubehore
Accessories

Type Porte-outils  Pages Module de serrage Module d'arrosage Page

Typ Halter Seiten Spannelement Kihlmittelzufuhrelement  Seite

Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-CITIZEN-R04-QTF5008-4T

4T ML12 >12.63 - ML12-JET-5/16 12.82

12.10

ML12-CITIZEN-R04-QTF5108-4T



<< MODU-Line <<< Main menu MODU-LINE

— Porte-outils spéciaux de tronconnage I
mmmm Citizen R04 Spezial Abstechwerkzeughalter ML12 s
I Special parting off tool holders I

Parting off position

ML12-CITIZEN-RO04-QTF5108-4T

avec canon
mit Fihrungsbuchse
with guide bush

Ligne d’outil |
Werkzeugnullpunkt *
Toalret.ine__§ Ll /s w 1

Ligne d'outil 0

Werkzeugnullpunkt
Tool ref. line o
] | —F/—f———— — — — ——— - —- — ,

‘ ML12A-750RC-R04 jﬁi@» 3.5

Ligne d’outil
Werkzeugnullpunkt

vl = - . \J ,
6 ML12A-740-C-R04 m f3 5

Type de machine Porte-outils Plaquettes Pages
Maschinen-Typ Halter Wendeplatten Seiten
Type of machine Holders Art.N° Inserts Pages
ML12A-730RC-R04 731R.../ 731RSF
. TOP-Line
Citizen RO4 ML12 ML12A-750RC-R04 751R.../ 751RDSF > TOP-Watch
ML12A-740-C-R04 741 [ T41SF

12.11




MODU-LINE << MODU-Line <<< Main menu

_ + 3 outils (max 3) I
mmm Citizen R04 + 3 Werkzeuge (max 3] ML12 s
— + 3 tools (max 3) [

Accessoires
Zubehore
Accessories

Porte-outils  Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-CITIZEN-R04-QTF3101-3T ML12 >12.63 - ML12-JET-5/16 12.82

12.12




<< MODU-Line

mmmm Citizen RO7

©

O O0|0|0 |00

gerePrP

Q
@

ML12-CITIZEN-RO7-QTF4108-6T

12
12
12
12
12

+ 1 outil [max 11)

<<< Main menu

+ 1 Werkzeug (max 11)

+ 1 tool (max 11)

MODU-LINE

ML12 w—=

. e o]

Al © e

12y Al © el

12y Al © el

12y Al © © el

12y Al © © el
@O

ML12-CITIZEN-RO7-QTF4008-5T

Accessoires
Zubehore
Accessories

Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement  Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
5T ML12-CITIZEN-RO7-QTF4008-5T
ML12 >12.63 - ML12-JET-5/16 12.82
6T ML12-CITIZEN-R07-QTF4108-6T
12.13




MODU-LINE << MODU-Line <<< Main menu

— + 1 outil ([max 7) —
mmms Citizen RO7 + 1 Werkzeug (max 7) ML12 s
— + 1 tool (max 7) [

© ©
O@ O© @Q Collision risk i +5 ‘ |
e ° 12 12 AT © el
e ° 12 12 R ol
L1e ’ 12 12 ) © el
e il 225
| © VO °] : ~ | |
% o
e G @ I
OEMO)

ML12-CITIZEN-RO7-QTF4608-4T ML12-CITIZEN-RO7-QTF4208-3T

Accessoires
Zubehore
Accessories

Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement  Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page

3T ML12-CITIZEN-RO7-QTF4208-3T
4T ML12-CITIZEN-RO7-QTF4608-4T

ML12 >12.63 - ML12-JET-5/16 12.82

12.14




<< MODU-Line <<< Main menu MODU-LINE

K12/K16 + 2 outils (max 8)
mmmm Citizen + 2 Werkzeuge (max 8] ML16 —
— K12E / K16E

+ 2 tools (max 8) —

Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool (116 mm possible with clamping unit

Module d'arrosage (prend la place d’un outil)
Kuhlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

1 serrage ML16-FIX-16 pour outil [116 mm inclus
1 Spannung ML16-FIX-16 fiir Werkzeug [116 mm inbegriffen
1 clamping ML16-FIX-16 for tool [1 16 mm included

Accessoires
Zubehore
Accessories

Porte-outils  Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art. N° Holders Pages Clamping unit Coolant supply unit Page
ML16-CITIZEN-K16 ML16 >12.63 ML16-FI1X-16/16.5 ML16-JET-7/16 12.82

12.15




MODU-LINE << MODU-Line <<< Main menu

| + 1 outil ([max 7) I
mmmm Citizen L16 / L20-5M1 / 5M7 + 1 Werkzeug (max 7) ML16 s
— + 1 tool (max 7) [
HeHeH Hef 0
©9e[@|e|e| |©
Ay A, A @ Jany
©)©)le|©o|er®
L o oH H oH ol o ®
g%%%%°©

0\20\20L20\20\27.5\

N

Module d’arrosage (prend la place d'un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

1 serrage ML16-FIX-16 pour outil 116 mm inclus
1 Spannung ML16-FIX-16 fiir Werkzeug [/116 mm inbegriffen
1 clamping ML16-FIX-16 for tool [1 16 mm included

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-CITIZEN-L20 ML16 >12.63 - ML16-JET-7/16 12.82

12.16




<< MODU-Line <<< Main menu MODU-LINE

I L20E-1M8 + 1 outil (max 6) I
mEmmm Citizen L20X-1M10 + 1 Werkzeug (max 6) ML16 s
— L20-2M8/2M12 + 1 tool (max é) —
© © © ©

L e s e M s

e[ &[] &[] & ﬁtg

TN TN N

8 8|® BB |

©

©

Foerte

. ©
. ©

e

A
. ©

Accessoires
Zubehore
Accessories

Porte-outils  Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-CITIZEN-L20E ML16 >12.63 - ML16-JET-7/16 12.82

12.17




MODU-LINE

mmms Hanwha XD20M

<< MODU-Line

<<< Main menu

+ 2 outils (max 7)

+ 2 Werkzeuge (max 7)

+ 2 tools (max 7)

©

©

[)

i

©
@
©

AT
A ©
Ad s

of

©
@}
©

12.18

[ O]
17017 017 [ 17 117 | 17
Accessoires
Zubehore

Accessories
Porte-outils Pages Module de serrage Module d'arrosage Page
Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-HANWHA-XD20M ML12 >12.63 - ML12-JET-5/16 12.82



<< MODU-Line <<< Main menu

MODU-LINE

— + 1 outil ([max 7) —
mmmm HanwhaSL12/16 + 1 Werkzeug (max 7) ML16 s
——— + 1 tool (max 7) —

©® _© 0 _©
on N fer g
©e|o|8|e|e|@ o

Ao ©
AT ©
.
©©‘%)'_

©
©

20|20 | 20 | 20 | 20 | 20
T T T T
Accessoires
Zubehore

Accessories
Porte-outils Pages Module de serrage Module d'arrosage Page
Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-HANWHA-SL12/16 ML16 >12.63 - ML16-JET-7/16 12.82

12.19




<< MODU-Line  <<< Main men
MODU-LINE ain menu
/526/
. KMX 426/526/626
s Manurhin ML16 s
Swing 20-26 MM
| |
Jet
Duo
ML-JET-7/16-3.0Xé |
/ |

| iz e¢_9

i

Jet Duo
Accessoires
Zubehore
Accessories

Type Porte-outils Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
Jet ML16-KMX26-JET ML-JET-7/16...

ML16 >12.63 - 12.82

Duo ML16-KMX26-DUO

12.20

ML16-JET-7/16



<< MODU-Line <<< Main menu MODU-LINE

I D3 + 1 outil (max 3) I
BN Metafil D10 + 1 Werkzeug (max 3] ML12 s
— D13 + 1 tool (max 3) [

.l
O [ & ° 12
o |fe ° 1 h2
@ e ©) %
Accessoires
Zubehore
Accessories
Porte-outils Pages Module de serrage Module d'arrosage Page
Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-D10-3T ML12 >12.63 - ML12-JET-5/16 12.82

12.21




MODU-LINE << MODU-Line <<< Main menu

— + 2 outils (max 9) —
I Star SB-12RG + 2 Werkzeuge (max 9) ML12 s
— + 2 tools (max 9) [

© © ©
I S B
o[|o[|lo[|o[|lO[]|O0O[|O||@®@[]0® /] L L] ] o o o ™ ™ »
Aelclclclclclelele ©00000000
[N N RN
= ] A
AN A TE T 0O 00000O0O0O0
©1© 6 . © B ©© ©)
O
© | ol | o | of | o | o | o | o | of
(@]

N
~3
—_
~3
—_
~3
—_
~3
—_
~3
—_
~3
—_
~3
—_
~3

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-STAR-SB-12RG ML12 >12.63 - ML12-JET-5/16 12.82

12.22




<< MODU-Line <<< Main menu MODU-LINE

I + 2 outils (max 8) I
B Star SR-10J + 2 Werkzeuge (max 8] ML12 s
— + 2 tools (max 8) [

‘ 0
1)

o
o]
of]
of]

)
)

©
©o
©:
©
@
©
©
©
©
&

PBlelBlleBlelo

O
©
o

18 b

24 | V4|14 114\ 14 14|14

[CXe)

1 serrage ML12-FIX-12 pour outil [112 mm inclus
1 Spannung ML12-FIX-12 fir Werkzeug [/1 12 mm inbegriffen
1 clamping ML12-FIX-12 for tool (112 mm included

Module d’arrosage (prend la place d'un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML12-STAR-SR-10J ML12 >12.63 ML12-FIX-12/14 ML12-JET-5/16 12.82

12.23




MODU-LINE << MODU-Line <<< Main menu

] + 2 outils (max 10) —
s Star SW-12RII + 2 Werkzeuge (max 10) ML12 s
— + 2 tools (max 10) —
| Il 14
il 1H 14
I 1K 14
I A 14
H‘ ‘0 14 1 o o]
e @ @ T s . @ efl
e © @ 1} 114 T © © e
i Ol (IR I ©O |l
©
+4
O (@)
o]
o]
o]
o]
o)
0
(o]
o)
Position uniquement utilisable avec module d'arrosage, en option
Position nur mit Kiihlmittelzufuhrelement verwendbar, optional
Position only with coolant supply unit usable, optional
ML12-STAR-SW-12RII-8T ML12-STAR-SW-12RII-2T
Accessoires
Zubehore
Accessories
Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement  Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
2T ML12-STAR-SW-12RII-2T
ML12 >12.63 - ML12-JET-5/16 12.82
8T ML12-STAR-SW-12RII-8T

12.24




L SA-12
mmmm Star SA-16
[ ] SA-16R

<< MODU-Line

g
]

©®
©
©
©

(™

>@
©
©
(©p

(
©©
%
Ao o

©

116]16]16]16]16]16]16]

Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool 116 mm possible with clamping unit

<<< Main menu MODU-LINE

+ 2 outils (max 8)
+ 2 Werkzeuge (max 8]
+ 2 tools (max 8)

Module d’arrosage (prend la place d'un outil)

ML16 mem

Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)

Coolant supply unit (takes the place of one tool)

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SA-16 ML16 >12.63 ML16-FIX-16/16 ML16-JET-7/16 12.82

12.25




MODU-LINE << MODU-Line <<< Main menu

— + 3 outils (max 8) —
BN Star SB-16 + 3 Werkzeuge (max 8) ML16 s
— + 3 tools (max 8] [
[ © o © o _©
7 ] = 7
] e [S]
@ a @
O|9|©|0|g|©|0|g|©
Blo|o|®|e|e|B|o
(\F o o o o -
©% o%g ofg
1701717147117 17117 |

Outil 116 mm possible avec module de serrage
Werkzeug [1 16 mm mit Spannelement mdglich
Tool [116 mm possible with clamping unit

Module d’arrosage (prend la place d’un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SB-16 ML16 >12.63 ML16-FIX-16/17 ML16-JET-7/16 12.82

12.26




mmmm Star SB-16/20RG
—

<< MODU-Line

<<< Main menu

+ 1 outil ([max 7)

+ 1 Werkzeug (max 7)

+ 1 tool (max 7)

|22 22| 22| 22| 22| 22 ]

© © ©
L T o T T o T T T T
e[| []e® S [ []& [
ol6|8|8)8| & )8
(I (I (I (I ] (I (I (I
9|9 9|9 9 Q| |©
Q" 1 o] o] 1 ©
@ (0] o o

EXS

Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool 116 mm possible with clamping unit

Module d'arrosage (prend la place d’un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)

Coolant supply unit (takes the place of one tool)

Accessoires
Zubehore
Accessories

MODU-LINE

ML16 mem

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SB-16/20RG ML16 >12.63 ML16-FIX-16/22 ML16-JET-7/16 12.82

12.27




MODU-LINE << MODU-Line <<< Main menu

+ 1 outil ([max 7) I

B Star SB-20C/E + 1 Werkzeug (max 7) ML16 s

— + 1 tool (max 7)

Q) | © ©
L T f
e [1e[] e[| Il
A | iy
+1@||9] |9 9| |9|[¢||©
| (@
\
A A A
@ Q|9 0] 1©| Y] |©
i M oM o om  f
‘ o ol Lo
411221221 22]22]22]22]|
Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool 116 mm possible with clamping unit
Module d'arrosage (prend la place d’un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)
Accessoires
Zubehore
Accessories
Porte-outils Pages Module de serrage Module d'arrosage Page
Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SB20C/E ML16 >12.63 ML16-FIX-16/22 ML16-JET-7/16 12.82

12.28




<< MODU-Line <<< Main menu MODU-LINE

I SR-16R + 3 outils (max 9) I
B Star SR-20R + 3 Werkzeuge (max 9] ML16 s
——— SR-20RII + 3 tools (max 9) —
©|8)||o||0|B||e|e|B|e
© -
©||©]|©]©)||©||©||g||©

Ao ° 2
o
e
b o
Ao o
b o

N
o
N
o
b
o
N
o
N
o
N
o
N
o
N
o

Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool [116 mm possible with clamping unit

Module d'arrosage (prend la place d’un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SR-20R ML16 >12.63 ML16-FIX-16/20 ML16-JET-7/16 12.82

12.29




MODU-LINE << MODU-Line <<< Main menu

— SR-20RIIl + 3 outils (max 9)
Star + 3 Werkzeuge (max 9) ML16 .
— SR-20J
+ 3 tools (max 9) .
° ©_ ©_
— Ferd H Hsrd H Fad H

©
©
©
©
©
©
©
©
©

Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool 116 mm possible with clamping unit

Module d'arrosage (prend la place d'un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SR-20RIII

ML16 >12.63 ML16-FIX-16/20 ML16-JET-7/16 12.82

ML16-STAR-SR-20J

12.30




<< MODU-Line <<< Main menu MODU-LINE

—— + 3 outils (max 9) —
B Star SR20JII type A/B + 3 Werkzeuge (max 9) ML16 s
[ + 3 tools (max 9) —

new

L o ©
eHeHeHeHeHeHe e e [
elciiciciclclclSlEle
§ I
Q|Q9 Q) Q|9 QYL
9
e :

}20}20}20}20}20}20}20}20}

Risque de collision avec outil 9
Kollisionsrisiko mit Werkzeug 9
Collision risk with tool 9

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SR20JI1-A/B ML16 >12.63 ML16-FIX-16/20 ML16-JET-7/16 12.82

12.31




MODU-LINE << MODU-Line <<< Main menu

__ + 1 outil (max 8) I
BN Star SR-20RIV + 1 Werkzeug (max 8) ML16 s
— + 1 tool (max 8 —

20

20

20

20

| - ©
20 25[;@& @ @ -l

R
cllclictelecle

/) |®7 o] o[ o o[ o |
L@%%%%%
©
A
S
||

ML16-STAR-SR-20RIV-6T ML16-STAR-SR-20RIV-2T

Accessoires
Zubehore
Accessories

Type Porte-outils Pages  Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
2T ML16-STAR-SR-20RIV-2T
ML16 >12.63 - ML16-JET-7/16 12.82
6T ML16-STAR-SR-20RIV-6T

12.32




<< MODU-Line <<< Main menu MODU-LINE

[ g + 1 outil (max 7) g + 7 outils (max 13) I
s Star SR-32J 32?:)‘.(‘ + 1 Werkzeug (max 7) 16“::1 +7 Werkzeuge (max 13) ML16
——— + 1 tool [max 7) + 7 tools (max 13) —

Il =
(o>| @

|32 32 32|32 |32 ]3]

Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool 116 mm possible with clamping unit

Module d'arrosage (prend la place d'un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)

Accessoires
Zubehore
Accessories

Porte-outils Pages Module de serrage Module d'arrosage Page

Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SR-32J ML16 >12.63 ML16-FIX-16/16 ML16-JET-7/16 12.82

12.33




MODU-LINE

ms Star SV-12/20

<< MODU-Line

<<< Main menu

+ 2 outils (max 7)

+ 2 Werkzeuge (max 7)

+ 2 tools (max 7

12.34

@A:I @A:I @A:I @ [
— e [] el el M n
A5 B el @
9)|0|©9||©||9]|©]|©
ol@lal @ e I@
9))0|©||©||9]|©]|©®
e[l |1 ol [\ ol off [
® { o (@) (@) {
\20\ 20\ 20\ 20\ 20\ 20\
Outil 116 mm possible avec module de serrage
Werkzeug [116 mm mit Spannelement mdglich
Tool 116 mm possible with clamping unit
Module d’arrosage (prend la place d'un outil)
Kihlmittelzufuhrelement (nimmt den Platz eines Werkzeuges)
Coolant supply unit (takes the place of one tool)
Accessoires
Zubehore
Accessories
Porte-outils Pages Module de serrage Module d'arrosage Page
Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SV-12/20 ML16 >12.63 ML16-FIX-16/20 ML16-JET-7/16 12.82



<< MODU-Line <<< Main menu MODU-LINE

—— + 2 outils (max 9) —
BN Star SV-20R + 2 Werkzeuge (max 9) ML16 s
[ + 2 tools (max 9) —

© | _ | -
IE ° 4 o
T I RN
fe®@ @ 1V I
©Hk : o
@ @ 1 Ixn
T I RN
@Ho ©@ @ ;I lw
T I PR
[e L O P
T I RN
e @ | P
T I RN
@HO | P
T I RN
He i | R P
T I RN
@He @ @ °WV
©
Accessoires
Zubehore
Accessories
Porte-outils Pages Module de serrage Module d'arrosage Page
Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Art.N° Holders Pages Clamping unit Coolant supply unit Page
ML16-STAR-SV-20R ML16 >12.63 ML16-FIX-16/20 ML16-JET-7/16 12.82

12.35




MODU-LINE

<< MODU-Line

<<< Main menu

] + 1 outil (max 8) —
ms Star SW-20R + 1 Werkzeug (max 8) ML16 s
— + 1 tool (max 8] —
@H@ ‘O i 24
7 ~ o o o
e @ | EPY
7 ~ o d o
e @ | 2
©H \ ] ®) ©
o (@0) o FJ 24 — ©
\ \ oy / do o ©» ©» o
H@ o 24 | —
©||] \ oy 24 / éo o ©» ©» o
- @ @<=°°
© °o
ML16-STAR-SW-20R-6T ML16-STAR-SW-20R-2T
Accessoires
Zubehore
Accessories
Type Porte-outils ~ Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
2T ML16-STAR-SW-20R-2T -
ML16 > 62 ML16-JET-7/16 12.82
6T ML16-STAR-SW-20R-6T ML16-FIX-16/24

12.36




<< MODU-Line <<< Main menu MODU-LINE
| / I
DECO7/10
mmm Tornos ML12 =
EvoDECO 10
| I
Jet
Duo
ML-JET-7/16-3.0x6
|
fo @ =Ea 12
[v@ @ “=27
Jet Duo
Accessoires
Zubehore
Accessories
Type Porte-outils Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
Jet ML12-DECO10-JET ML-JET-7/16...
ML12 >12.63 - 12.82
Duo ML12-DECO10-DUO ML12-JET-5/16

12.37




MODU-LINE

I Tornos
|

SwissNano
SwissNano 7

<< MODU-Line <<< Main menu

+ 2 outils (max é) —_—
+ 2 Werkzeuge (max 6) ML12 ==
+ 2 tools (max 6) ]

T @_j o €O o 12
{7 |1e ° e 12
o °° 12
BIE o Q) 12
Golle © " LGNNI 12
e © oo D))
& G
\/ 6T
8
6T
Accessoires
Zubehore
Accessories
Type Porte-outils Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
6T ML12-SWISS-NANO-6T ML12 >12.63 = ML12-JET-5/16 12.82
SwissN
WISSNano
mmmm Tornos _ . ML12 ===
SwissNano 7
| |

12.38




<< MODU-Line <<< Main menu MODU-LINE

— SwissN Porte-outils spéciaux de tronconnage I
WISSNano .
mmms Tornos _ . Spezial Abstechwerkzeughalter ML12 s
SwissNano 7 . .
I Special parting off tool holders I
avec canon avec pince
mit Fihrungsbuchse mit Spannzange
with guide bush with collet
Ligne d’outil
Werkzeugnullpunkt
| Tool ref. line
= e
3.5 W ML12A-730RC-Swiss-Nano ‘ 325 ) 5
Ligne d’outil
Werkzeugnullpunkt

| Tool ref. line
. F H‘Fi' = 1. _ _
35 ML12A-750RC-Swiss-Nano !

Ligne d’outil
Werkzeugnullpunkt
| Tool ref. line

Ligne d’outil
Werkzeugnutlpunkt
: Tool ref. line @27
L %>
3 5 V) ML12A-770RC-Swiss-Nano 485 1 Ti 485 4
Type de machine Porte-outils Plaguettes Pages
Maschinen-Typ Halter Wendeplatten Seiten
Type of machine Holders Art.N° Inserts Pages
ML12A-730RC-SWISS-NANO 731R.../ 731RSF )
, ML12A-750RC-SWISS-NANO 751R.../ 751RDSF » J0tELige
SwissNano ML12 TOP-Watch
ML12A-740-C-SWISS-NANO 741... | TL1SF
ML12A-770RC-SWISS-NANO 771R... > TOP-Line

12.39




MODU-LINE << MODU-Line <<< Main menu

] ) [

s Tornos Sw!ssNano ML12 ==
SwissNano 7

] fr—

3T
I 2T
Accessoires
Zubehore
Accessories
Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement ~ Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
2T ML12-SWISS-NANO-2T
ML12 >12.63 - ML12-JET-5/16 12.82
3T ML12-SWISS-NANO-3T

12.40




<< MODU-Line

<<< Main menu

MODU-LINE

| I
BN Tornos SwissNano 7 ML12 ==
| I
Accessoires
Zubehore
Accessories
Type Porte-outils Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
4T ML12-SWISS-NANO-7-4T ML12 >12.63 - ML12-JET-5/16 12.82

12.41




MODU-LINE << MODU-Line <<< Main menu

I + 3 outils (max 9) —
s Tornos DT 13 + 3 Werkzeuge (max 9) ML12 ==
— + 3 tools (max 9) [
© © ©
e e w2 e e e e v
[ o[ jo[|lo[|lo[|o||lo[|lOo[|lO0||®[ |

©
©
©
©
©
©
©
©

O 0000000000

©@
©)
@
©)
©@
©®
©)
©)

0O 00000ODO0O

i
|
|
[cXe)
N J
|
KdL o
|
o
f
t
o
|
°
|
o
T
o
|
°
|
o
I
|

2.5 20 | 16116116116/ 16|16 |16

Accessoires

Zubehore

Accessories
Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement ~ Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
9T ML12-DT13-2020206-9T ML12 >12.63 - ML12-JET-5/16 12.82

12.42




<< MODU-Line <<< Main menu MODU-LINE

— + 1 outil ([max 7) —
mmmE Tornos CT 20 + 1 Werkzeug (max 7) ML12 s
——— + 1 tool (max 7) —

O[O0 |0 (O] |O[ O] |®
q ®
ANCIEN A AN 1N 1N IR
© © LY Y e Y| °
@
AR @A E |l e
9 Y Y g ©
O
707 07 07 07 07 07©
€]
| 20| 20| 20| 20| 20| 20 |
Accessoires
Zubehore
Accessories
Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement ~ Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
7T ML12-CT20-2020019-7T ML12 >12.63 - ML12-JET-5/16 12.82

12.43




<<< Main menu

<< MODU-Line

MODU-LINE

+ 5 outils (max 12)

ML12 we==

+5 Werkzeuge (max 12)
+ 5 tools (max 12)

mms Tornos GT 13

@

o

e

e
e
S

©
©
©
©

(17

clejelete.
il \@
m ol o] <l
gkl h ‘i
rlLllLllLllV?_
© v v v *+

[

S E R
Al 1A B A 1A 6
clejelclelele
A A Al A Al Al A
NCICICICASAS

O |0 |O||O||]O||O®| |
S o 1 I B B A
© ©

© 000000

©00000°0

12.44




<< MODU-Line <<< Main menu MODU-LINE

|| [
mmmm Tornos GT 13 ML12 =
|| [

ML12-GT13-390223-7T ML12-GT13-390224-5T

Accessoires
Zubehore
Accessories

Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement ~ Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
5T ML12-GT13-390224-5T
ML12 >12.63 - ML12-JET-5/16 12.82
7T ML12-GT13-390223-7T

12.45




MODU-LINE << MODU-Line <<< Main menu

N + 2 outils (max 11) I
mmms Tornos GT 26 + 2 Werkzeuge (max 11) ML16 s
— + 2 tools (max 11) [

*********

,,,,,,

J IS

[je @) | o : 2 e r H@
e A
e e B e
f® © “F u  u Lo o
@HWQ w2 | © N

1 serrage ML16-FIX-16 pour outil [1 16 mm inclus
1 Spannung ML16-FIX-16 fiir Werkzeug [/1 16 mm inbegriffen
1 clamping ML16-FIX-16 for tool 116 mm included

12.46




<< MODU-Line <<< Main menu MODU-LINE

|| [

mmmm Tornos GT 26 ML16 mm

|| [
ML16-GT26-386209-6T ML16-GT26-386210-5T

Accessoires
Zubehore
Accessories

Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement ~ Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
5T ML16-GT26-386210-5T
ML16 >12.63 - ML16-JET-7/16 12.82
6T ML16-GT26-386209-6T

12.47




<<< Main menu

<< MODU-Line

MODU-LINE

+ 9 outils

ML16 wem

+ 9 Werkzeuge
+ 9 tools

max

mms Tornos GT 32

©

o
il

©z

©

©»

©

O
©:

OO

il

©z

32

32

32

32

32

32

£©)

Holder 116

Holder ML16

Holder (116

Holder ML16

12.48




<< MODU-Line <<< Main menu MODU-LINE
| I
mmmm Tornos GT 32 ML16 s
| I
ML16-GT32-386209-5T ML16-GT32-386210-4T
Accessoires
Zubehore
Accessories
Type Porte-outils ~ Pages Module de serrage Module d'arrosage Pages
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seiten
Type Art. N° Holders Pages Clamping unit Coolant supply unit Pages
4T ML16-GT32-386210-4T Txinclus Option
ML16 >12.63 1x inbegriffen ML16-FIX-16 ML16-JET-7/16 12.82
5T  ML16-GT32-386209-5T 1xincluded e

12.49




MODU-LINE << MODU-Line <<< Main menu

DECO 13 _

I T [ ]
orNoS - oDECO 16 ML16

] e

Jet

Duo

ML-JET-7/16-3.0x6

=1
(OF 1
© @ !
Jet Duo
Accessoires
Zubehore
Accessories
Type Porte-outils Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
Jet ML16-DECO13-JET ML-JET-7/16... 12.82
ML16 >12.63 -
Duo ML16-DEC013-DUO ML16-JET-7/16 12.82

12.50




<< MODU-Line <<< Main menu MODU-LINE

DECO 20/ 26
T |
OrNoS EoDECO 20 /32 ML16
| ] |

Jet

Duo

ML-JET-7/16-3.0x6

e

Jet Duo

Accessoires
Zubehore
Accessories

Type Porte-outils Pages Module de serrage Module d'arrosage Page

Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Type Art. N° Holders Pages Clamping unit Coolant supply unit Page

Jet ML16-DEC020-JET ML-JET-7/16... 12.82
ML16 >12.63 -

Duo ML16-DEC020-DUO ML16-JET-7/16 12.82

12.51




MODU-LINE << MODU-Line <<< Main menu

] ]
s Tornos SIGMA 20/ 32 ML16 wmm
] ]

Jet

Duo

ML-JET-7/16-3.0x6 12

Jet Duo

Accessoires
Zubehore
Accessories

Type Porte-outils Pages Module de serrage Module d'arrosage Page

Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite

Type Art. N° Holders Pages Clamping unit Coolant supply unit Page

Jet ML16-S20-JET ML-JET-7/16... 12.82
ML16 >12.63 -

Duo ML16-520-DUO ML16-JET-7/16 12.82

12.52




<< MODU-Line <<< Main menu MODU-LINE

|| [
mmmm Tornos Swiss ST 26 ML16 mm
|| [

Jet

Duo

ML-JET 7/16-3.0X6

T
16
@ @W: |
Jet Duo
Accessoires
Zubehore
Accessories
Type Porte-outils Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
Jet ML16-SWISS-ST26-JET ML-JET-7/16... 12.82
ML16 >12.63 -
Duo  ML16-SWISS-ST26-DUO ML16-JET-7/16 12.82

12.53




MODU-LINE << MODU-Line <<< Main menu

— + 1 outil (max 7) —
mmms Tornos DT 26 + 1 Werkzeug (max 7) ML16 s
— + 1 tool ([max 7) [
— e {s{s 1s s s ]s|
8 8|88 1B B3
D)
CllCINCINCINCINC .
— = |
!
.

|
T:@@ @
:
‘F
}OO
(iéoo
iOO
iy
|
/fé‘oo ©
A

Accessoires
Zubehore
Accessories

Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement  Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
7T ML16-DT26-2020206-7T ML16 >12.63 = ML16-JET-7/16 12.82

12.54




<< MODU-Line <<< Main menu MODU-LINE

I + 3 outils (max 6) I
EmmE Tsugami B074 + 3 Werkzeuge (max 6) ML12 s
[ + 3 tools (max 6) —

(@]
e ° 12
e : 12
e : 12
e : 12
e : 12
fle @ "
Accessoires
Zubehore
Accessories
Type Porte-outils ~ Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art. N° Holders Pages Clamping unit Coolant supply unit Page
6T ML12-B074-1-6T ML12 >12.63 - ML12-JET-5/16 12.82

12.55




MODU-LINE << MODU-Line <<< Main menu

I +5 outils (max 8)
s Tsugami B075 + 5 Werkzeuge (max 8] ML12 s
— +5 tools (max 8]

o o
o o
e ’ 12 =
e ’ 12 o
e ° 12 °
B ° 12 o
e ° 12 p
e © ’ 12 o
e ’ 12 o)
e ©@ 7V o
o ©
Accessoires
Zubehore
Accessories
Type Porte-outils ~ Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
8T ML12-B075-1-8T ML12 >12.63 - ML12-JET-5/16 12.82

12.56




<< MODU-Line <<< Main menu MODU-LINE

I + 3 outils (max 9) —
s Tsugami PO34 + 3 Werkzeuge (max 9) ML12 =
— + 3 tools (max 9) —
20]

[ 00 0| f

e @ "I e 8 Al ol

e ® @ " 412 12 o el

LE " e 12 - il

LE " e 12 - il

lle @© il

— 38
—

ML12-P034-1-5T ML12-P034-2-4T

Accessoires
Zubehore
Accessories

Type Porte-outils ~ Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
4T ML12-P034-2-4T
ML12 >12.63 - ML12-JET-5/16 12.82
5T ML12-P034-1-5T

12.57




ML12 we==

© c©

(=]
(=]
(=]
=]
(=]
(=]
(=]
(=]
(=]
(=]

0000000000

©»
©»
©»
©»
©»
©»
©»
©»
©»

0000000000

ML12-P034-2-10T

©
©
©
©
©
©
©
©
©
©

<<< Main menu

<< MODU-Line
+ 17 outils
+ 17 Werkzeuge
+ 17 tools

max

MODU-LINE

s Tsugami PO34

AL

N N N N N N N N N

il

0000000

©o ©
©@
©@
©@
©)
©@
©@
° ©

0000000

o

Q)
©
Q)
Q)
Q)
O)

ML12-P0O34-1-7T

(S]
(S]
(S]
(S]
(S]
(S]
(S]

12.58




<< MODU-Line <<< Main menu MODU-LINE

I [

mmmm Tsugami PO34 ML12 =

I [
ML12-P034-1-7T ML12-P034-2-10T

Accessoires
Zubehore
Accessories

Type Porte-outils  Pages Module de serrage Module d'arrosage Page
Typ Halter Seiten Spannelement Kihlmittelzufuhrelement Seite
Type Art.N° Holders Pages Clamping unit Coolant supply unit Page
7T ML12-P034-1-7T
ML12 >12.63 - ML12-JET-5/16 12.82
10T ML12-P034-2-10T

12.59




MODU-LINE << MODU-Line <<< Main menu

BN |nformations techniques
mmm Technische Informationen
mmmm Technical information

Les différents types de porte-outils
Die verschiedenen Haltertypen
The various types of holders

Porte-outils .
Halter

Holders mmm

12.60

Type Standard
ML12A-740
Type -D
ML12A-740-D
Type -JET-D

ML12A-740-JET-D

Connector M5

Type -JET

ML12A-740-JET

Connector M5

-JET




<< MODU-Line <<< Main menu MODU-LINE

Porte-outils IS
Halter s

Holders mmmm

I |nformations techniques
mmmm Technische Informationen
mmmm Technical information

Compatibilité
Kompatibilitat
Compatibility

OK NOT OK

O -JET-D -Standard m

MIX TYPED

& V)

-Standard -JET-D -D -JET-D -D -JET-D -D

12.61




MODU-LINE << MODU-Line <<< Main menu

BN |nformations techniques
mmm Technische Informationen
mmmm Technical information

Exceptions
Ausnahmen
Exceptions

Porte-outils .
Halter
Holders mmm

12.62

Exception ML12

-JET-D
-JET -Standard

|

15

2 15 mm = Total compatibility

Brochure JET-Line:
Systeme de distribution du liquide de
refroidissement pour haute pression

JET-Line Broschiire:
Kihlmittelverteilungssystem fiir
hohen Druck

JET-Line brochure:
Coolant distribution system for
high pressure

Exception ML16

-JET-D
-JET -Standard




<< MODU-Line

I Porte-outils

s Halter

mmmm Holders

Systéme de fixation
Befestigungssystem
Clamping system

<<< Main menu

MODU-LINE

ML12/ML16

réglable longueur fixe
A= einstellbar F= fixlange
adjustable fixed length
ML12A ML12F
S
15 A
iR r
[H@ Q) ML12 (©) ° PR 7118 ©) MLiZF (©) OH—/THB
| 110 | 110 _
| s |
qu ﬁw 715
ML16A ML16F

-1.5 *l

[|1®

ML16A (D)

T2 -

118

I

]

15.8

15.8

12.63




<< MODU-Line <<< Main menu

MODU-LINE

BN Porte-plaquettes I
mmmm WSP-Halter TOP-Line wmm
[

s Insert holders

( 118
30 Art.N° Art. N° Art. N°

ML12 ML12 ML12
TOP-Line
731-737 - ML12A-730-C-D =D -
Standard -D -JET-D

gz | ki~
E‘ ML12 ML12 ML12

ML12A-740 ML12A-740-D ML12A-740-JET-D
TOP-Line ML12F-740 ML12F-740-D -
T41-747
ML16 ML16 ML16
ML16A-740 ML16A-740-D ML16A-740-JET-D
ML16F-740 5 -
i 30
ML12 ML12 ML12
TS ML12A-740-C ML12A-740-C-D ML12A-740-C-JET-D
T41-747 ML12F-740-C ML12F-740-C-D s

6 ML12 ML12 ML12

L _ _

ML12A-740-C-R04
ML12A-740-C-SWISS-NANO -

TOP-Line
741
ML12 ML12 ML12
ML12A-760 ML12A-760-D ML12A-760-JET-D
E ML12F-760 ML12F-760-D 2
ML16 ML16 ML16
TOP-Line ML16A-760 ML16A-760-D ML16A-760-JET-D
761-767 ML16F-760 5 =

12.64




I Porte-plaquettes
mmmm WSP-Halter
mmmm Insert holders

SE 10
40

TOP-Line
761-767

WD}W

TOP-Line
781

N Porte-plaquettes
s WSP-Halter
mmmm Insert holders

TURN-Line
347-349

<< MODU-Line

<<< Main menu

MODU-LINE

I
TOP-Line =
I
Standard -D -JET-D
©
Art. N° Art. N° Art. N°
ML16 ML16 ML16
ML16A-760-C ML16A-760-C-D -
ML16F-760-C - -
ML16 ML16 ML16
- ML16A-780-C-D -
I
TURN-Line ==
I
Standard -D -JET-D
[T1
m
U m “ .,
Art. N° Art. N° Art. N°
ML12 ML12 ML12
ML12A-340 ML12A-340-D ML12A-340-JET-D
ML12F-340 ML12F-340-D -
ML16 ML16 ML16
ML16A-340 ML16A-340-D ML16A-340-JET-D
ML16F-340 - -

12.65




MODU-LINE

BN Porte-plaquettes
s WSP-Halter
mmmm Insert holders

80°
LY
ISO-Line
CC..-0602..
80°
L[5
ISO-Line
CC..-09T3..

ISO-Line
DC..-0702..

17

ISO-Line
DC..-0702..

12.66

<< MODU-Line

Standard

Art.N°

<<< Main menu

-D

W~ -

Art. N°

ISO-Line ==

-JET-D
1]

([

Art.N°

ML12

ML12A-SCLCRO6
ML12F-SCLCR06

ML16

ML16A-SCLCR0O6
ML16F-SCLCRO06

ML12

ML12A-SCLCRO9
ML12F-SCLCR09

ML16

ML16A-SCLCRO9
ML16F-SCLCR09

ML16

ML16A-SDHCRO7

ML12

ML12A-SDJCRO7
ML12F-SDJCRO7

ML16

ML16A-SDJCRO7
ML16F-SDJCRO7

ML12

ML12A-SCLCR06-D
ML12F-SCLCR06-D

ML16

ML16A-SCLCR06-D
ML16F-SCLCRO06-D

ML12

ML12A-SCLCR09-D
ML12F-SCLCR09-D

ML16

ML16A-SCLCR09-D
ML16F-SCLCR09-D

ML16

ML12

ML12A-SDJCRO7-D
ML12F-SDJCR07-D

ML16

ML16A-SDJCR07-D
ML16F-SDJCR07-D

ML12

ML12A-SCLCR06-JET-D

ML16

ML16A-SCLCR06-JET-D

ML12

ML12A-SCLCR09-JET-D

ML16

ML16A-SCLCR09-JET-D

ML16

ML12

ML12A-SDJCR0O7-JET-D

ML16

ML16A-SDJCR0O7-JET-D



I Porte-plaquettes
mmmm WSP-Halter
mmmm Insert holders

ISO-Line
DC..-11T3..

L [

ISO-Line
DC..-11T3..

ISO-Line
VC..-1103..

ISO-Line
VC..-1103..

<< MODU-Line

Standard

Art. N°

<<< Main menu

-D

W~ -

Art. N°

MODU-LINE

ISO-Line

-JET-D
1]

([

Art.N°

ML12

ML12A-SDJCR11
ML12F-SDJCR11

ML16

ML16A-SDJCR11
ML16F-SDJCR11

ML12

ML12A-SDNCN11
ML12F-SDNCN11

ML16

ML16A-SDNCN11
ML16F-SDNCN11

ML12

ML12A-SVJCR11
ML12F-SVJCR11

ML16

ML16A-SVJCR11
ML16F-SVJCR11

ML12

ML12A-SV-CR11

ML16

ML16A-SV-CR11

ML12

ML12A-SDJCR11-D
ML12F-SDJCR11-D

ML16

ML16A-SDJCR11-D
ML16F-SDJCR11-D

ML12

ML12A-SDNCN11-D
ML12F-SDNCN11-D

ML16

ML16A-SDNCN11-D
ML16F-SDNCN11-D

ML12

ML12A-SVJCR11-D
ML12F-SVJCR11-D

ML16

ML16A-SVJCR11-D
ML16F-SVJCR11-D

ML12

ML12A-SV-CR11-D

ML16

ML16A-SV-CR11-D

ML12

ML12A-SDJCR11-JET-D

ML16

ML16A-SDJCR11-JET-D

ML12

ML12

ML12A-SVJCR11-JET-D

ML16

ML16A-SVJCR11-JET-D

ML12

ML16

12.67




MODU-LINE

BN Porte-plaquettes
s WSP-Halter
mmmm Insert holders

35°

ISO-Line
VC..-1103..

ISO-Line
VC..-1303..

BN Porte-plaquettes
s WSP-Halter

12.68

Insert holders

@ max 32 -
LG

EVOCUT-Line
ET20..

EVOCUT-Line
ET25..

<< MODU-Line <<< Main menu

[ ]
ISO-Line =
[ ]
Standard -D -JET-D
=
Art.N° Art.N° Art.N°
ML12 ML12 ML12

ML12A-SVVCN11
ML12F-SVVCN11

ML12A-SVVCN11-D
ML12F-SVVCN11-D

ML12A-SVVCN11-JET-D

ML16 ML16 ML16
ML16A-SVVCN11 ML16A-SVVCN11-D -
ML16F-SVVCN11 ML16F-SVVCN11-D o
ML12 ML12 ML12
- ML12A-SVJCR13-D -
ML16 ML16 ML16
- ML16A-SVJCR13-D ML16A-SVJCR13-JET-D
|
EVOCUT-Line ==
|
Art.N° Art. N°
ML16 ML16 ML16
- - ML16A-ET20-JET32
ML16 ML16 ML16

ML16A-ET25-JET32



I Porte-plaquettes
mmmm WSP-Halter
mmmm Insert holders

@ max 32
— T un 13
L O

EVOCUT-Line
ET30..

I Porte-plaquettes
mmmm WSP-Halter
mmmm Insert holders

@ max 16

:-- 16

CUT-Line
CUT16..

@ max 20

o122

CUT-Line
CUT22..

<< MODU-Line

<<< Main menu

MODU-LINE

EVOCUT-Line

Art.N° Art.N°
ML16 ML16 ML16
- - ML16A-ET30-JET32
I
CUT-Line
I
Standard
Art.N° Art.N° Art.N°
ML12 ML12 ML12
ML12A-CUT16 - -
ML12F-CUT16 - -
ML16 ML16 ML16
ML16A-CUT16 - -
ML16F-CUT16 - -
ML12 ML12 ML12
ML12A-CUT22 - -
ML12F-CUT22 - -
ML16 ML16 ML16

ML16A-CUT22
ML16F-CUT22

12.69




MODU-LINE

BN Porte-plaquettes
s WSP-Halter
mmmm Insert holders

LT

PRO-Line
642-647

LT

PRO-Line
661

BN Porte-plaquettes
mmmm  WSP-Halter
s Insert holders

LT

ECO-Line
261-266

12.70

<< MODU-Line <<< Main menu

|
PRO-Line
|
-D -JET-D
| \
)i
Art.N° Art. N° Art.N°
ML12 ML12 ML12
= ML12A-640-D ML12A-640-JET-D
ML16 ML16 ML16
- ML16A-640-D ML16A-640-JET-D
ML12 ML12 ML12
- ML12A-660-D ML12A-660-JET-D
ML16 ML16 ML16
- ML16A-660-D ML16A-660-JET-D
|
ECO-Line wmmm
|
Standard -D -JET-D
i ‘i
(o2 0 oL
Art.N° Art. N° Art.N°
ML12 ML12 ML12
ML12A-260 ML12A-260-D ML12A-260-JET-D
ML12F-260 ML12F-260-D -
ML16 ML16 ML16
ML16A-260 ML16A-260-D ML16A-260-JET-D
ML16F-260 o o



I Porte-outils

<< MODU-Line

<<< Main menu

MODU-LINE

I
mmmm Halter IN-Line
mmmm Holders I
e © | o
A-A
D L3
ML12
Compatible
d bars L3 F H © L1 L2 Art. N°
BB4R 32 8.5 37 6 13 585, ML12A-BHK4N-32R-D
4 BFAR". 37 13.5 42 6 13 585, ML12A-BHK4N-37R-D
42 18.5 47 [ 13 585 ML12A-BHK4N-42R-D

12.71




MODU-LINE << MODU-Line <<< Main menu

B Porte-outils [ ]

s Halter IN-Line

mmmm Holders [r—
H

fle@®@ @ || &+

[ A-A

H1

15 N

-
2

A o
26
36
ML16
Compatible
d bars L3 F H1 © H L1 L2 Art. N°
SR 32 8.5 37 6 - 17.5 53 ML16A-BHK4N-32R-D
4 BFl.Rm 37 13.5 42 6 - 17.5 5,3 ML16A-BHK4N-37R-D
42 18.5 47 6 - 17.5 5.5 ML16A-BHK4N-42R-D
ML16
Compatible
d bars L3 F H1 © H L1 L2 Art. N°
6 BBA4R... 47 18.5 52.5 6 1 17 6 ML16A-BHK6N-47R-D
BF4R... 57 28.5 62.5 6 1 17 6 ML16A-BHK6N-57R-D

12.72




I Porte-outils
s Halter
mmmm Holders

<< MODU-Line

o @ B )
L1 L2
E?J* g E

I Porte-molettes

mmmm Randelhalter
mmmm Knurl holders

<<< Main menu

MODU-LINE

TOOLING-Line

ML12
F D E L1 L2 Art. N°
8 3 12 13 6 ML12A-2440-8-3
8 4 12 13 [ ML12A-2440-8-4
8 5 12 13 6 ML12A-2440-8-5
12 6 12 13 6 ML12A-2440-12-6
ML16
F D E L1 L2 Art. N°
12 3 16 18 [ ML16A-2440-12-3
12 4 16 18 [ ML16A-2440-12-4
12 5 16 18 [ ML16A-2440-12-5
12 6 16 18 [ ML16A-2440-12-6
18 8 16 18 [ ML16A-2440-18-8
TOOLING-Line
ML12
E D L Art. N°
4 4 8 ML12A-2402-44
E
ML16
E D L Art. N°
4 4 1" ML16A-2402-44

12.73




MODU-LINE

<< MODU-Line

<<< Main menu

BN Porte-plaquettes - Coupe déportée & contre-opération
mmmm WSP-Halter - Versetztes Schneiden & Gegenspindel
s Insert holders - Cut off line & cut on subspindle

Coupe a droite déportée ou usinage
a gauche sur contre-broche

Rechtsschneidend versetzt oder
linksschneidend auf Gegenspindel

Right hand cut off line or left hand

cut on subspindle

TURN-Line
ISO-Line

TOP-Line
EVOCUT-Line
CUT-Line
PRO-Line
ECO-Line

BN Porte-plaquettes - Coupe déportée & contre-opération
mmmmm  WSP-Halter - Versetztes Schneiden & Gegenspindel
mmmm Insert holders - Cut off line & cut on subspindle

L

TOP-Line
731-737

12.74

e

Ilmmmlm mm‘\l
i

TOP-Line
EVOCUT-Line
CUT-Line
PRO-Line
ECO-Line

TOP-Line
PRO-Line
ECO-Line

TOP-Line w=mm

]
Standard -D -JET-D
, N
Art.N° Art. N° Art.N°
ML12 ML12 ML12
ML12A-730-V ML12A-730-V-D ML12A-730-V-JET-D
ML16 ML16 ML16
ML16A-730-V ML16A-730-V-D ML16A-730-V-JET-D



<< MODU-Line <<< Main menu MODU-LINE

I Porte-plaquettes — Coupe déportée & contre-opération —
mEmmm WSP-Halter - Versetztes Schneiden & Gegenspindel TOP-Line ==
mmmm Insert holders - Cut off line & cut on subspindle I
Standard -D -JET @
, [ ]
Art.N° Art.N° Art.N°
ML12 ML12 ML12
ML12A-730RC - ML12A-730RC-JET
-JET-D
5 S —
Wi (987
ML16 ML16 ML16
TOP-Line
731R ML16A-730RC ML16A-730RC-D ML16A-730RC-JET-D
3.5
ﬁ' tool ref.
32.5
ML12 ML12 ML12
= ML12A-730RC-RO04 - -

731R ML12A-730RC-SWISS-NANO - -

ML12 ML12 ML12 I
EI ML12A-750-V ML12A-750-V-D ML12A-750-V-JET-D

ML16 ML16 ML16
TOP-Line
751-757 ML16A-750-V ML16A-750-V-D ML16A-750-V-JET-D
ML12 ML12 ML12
S?Eﬁ 75(8) @
40 ML12A-750RC - ML12A-750RC-JET
ML16 ML16 ML16
TOP-Line
751R ML16A-750RC ML16A-750RC-D ML16A-750RC-JET-D

12.75




<< MODU-Line <<< Main menu

MODU-LINE

BN Porte-plaquettes - Coupe déportée & contre-opération
mmms  WSP-Halter - Versetztes Schneiden & Gegenspindel TOP-Line ==

s Insert holders - Cut off line & cut on subspindle ——
Standard -D -JET-D
v B —
3.5
SE:% tool ref. Art.N° Art.N° Art.N°
40
ML12 ML12 ML12
TOP-Line ML12A-750RC-R04 - -
751R ML12A-750RC-SWISS-NANO 5 5
3.5
%, tool ref.
; 465
ML12 ML12 ML12
TOP-Line
771R ML12A-770RC-SWISS-NANO - -
BN Porte-plaquettes — Contre-opération I
mmms WSP-Halter - Gegenspindel TURN-Line ==
s Insert holders - Cut on subspindle I
Standard -D -JET-D
Art.N° Art.N° Art.N°
ML12 ML12 ML12
E ML12A-330-V ML12A-330-V-D ML12A-330-V-JET-D
ML16 ML16 ML16
TURN-Line
337-339 ML16A-330-V ML16A-330-V-D ML16A-330-V-JET-D

12.76




<< MODU-Line

N Porte-plaquettes - Contre-opération
mmmm WSP-Halter - Gegenspindel
mmmm Insert holders - Cut on subspindle

80°
L e
ISO-Line
CC..-0602..
80°

ISO-Line
CC..-9T3..

L

ISO-Line
DC..-0702..

ISO-Line
DC..-11T3..

<<< Main menu

MODU-LINE

ISO-Line
[

Standard -D -JET-D
Art. N° Art. N° Art. N°
ML12 ML12 ML12
- ML12A-SCLCL06-V-D ML12A-SCLCLO06-V-JET-D
ML16 ML16 ML16
- ML16A-SCLCLO06-V-D ML16A-SCLCLO06-V-JET-D
ML12 ML12 ML12
- ML12A-SCLCLO09-V-D ML12A-SCLCL09-V-JET-D
ML16 ML16 ML16
- ML16A-SCLCL09-V-D ML16A-SCLCLO09-V-JET-D
ML12 ML12 ML12
- ML12A-SDJCLO7-V-D ML12A-SDJCLO07-V-JET-D I
ML16 ML16 ML16
- ML16A-SDJCLO7-V-D ML16A-SDJCLO7-V-JET-D
ML12 ML12 ML12

ML12A-SDJCL11-V

ML16

ML16A-SDJCL11-V

ML12A-SDJCL11-V-D

ML16

ML16A-SDJCL11-V-D

ML12A-SDJCL11-V-JET-D

ML16
ML16A-SDJCL11-V-JET-D

12.77




MODU-LINE

<< MODU-Line <<< Main menu

B Porte-plaquettes - Contre-opération
mmmmm WSP-Halter - Gegenspindel
s Insert holders - Cut on subspindle

N

ISO-Line
VC..-1103..

35°
NEAN

ISO-Line
VC..-1303..

]
ISO-Line =
]
Standard -D -JET-D
Art.N° Art.N° Art. N°
ML12 ML12 ML12

ML12A-SVJCL11-V

ML16
ML16A-SVJCL11-V

B Porte-plaquettes - Coupe déportée
mmmmm WSP-Halter - Versetztes Schneiden

12.78

@ max 32

EVOCUT-Line
ET20

@ max 32

EVOCUT-Line
ET25

Insert holders - Cut off line

ML12A-SVJCL11-V-D

ML16
ML16A-SVJCL11-V-D

ML12A-SVJCL11-V-JET-D

ML16
ML16A-SVJCL11-V-JET-D

ML12 ML12 ML12
- ML12A-SVJCL13-V-D -
ML16 ML16 ML16
- ML16A-SVJCL13-V-D ML16A-SVJCL13-V-JET-D
|
EVOCUT-Line ==
|
Art.N° Art. N°
ML16 ML16 ML16
- - ML16A-ET20-V-JET32
ML16 ML16 ML16

ML16A-ET25-V-JET32



<< MODU-Line <<< Main menu MODU-LINE

I Porte-plaquettes — Coupe déportée —
mmmm WSP-Halter - Versetztes Schneiden EVOCUT-Line
mmmm Insert holders - Cut off line I
-JET
@ max 32 | @
ML16 ML16 ML16
EVOCUT-Line
ET30 - 5 ML16A-ET30-V-JET32
BN Porte-plaquettes - Coupe déportée I
mmmm WSP-Halter - Versetztes Schneiden CUT-Line =
mmmm Insert holders - Cut off line [
Standard
Art. N° Art. N° Art.N°
ML12 ML12 ML12
@ max 16 ML12A-CUT16-V 5 -
) ' ML12F-CUT16-V 5 5
._...
1.6 ML16 ML16 ML16
CUT-Line ML16A-CUT16-V 5 =
CUT16 ML16F-CUT16-V 5 5
ML12 ML12 ML12
@ max 20 ML12A-CUT22-V - -

ML12F-CUT22-V = =

qg
2.2 ML16 ML16 ML16

CUT-Line ML16A-CUT22-V - .
CuT22 ML16F-CUT22-V - }

12.79




<< MODU-Line <<< Main menu

MODU-LINE
B Porte-plaquettes — Coupe déportée & contre-opération I
mmms  WSP-Halter - Versetztes Schneiden & Gegenspindel PRO-Line ==
s Insert holders - Cut off line & cut on subspindle ——
Standard -D -JET-D
1
(g o0 <§ o0 <§ 0
Art. N° Art.N° Art.N°
ML12 ML12 ML12
E: = ML12A-630-V-D ML12A-630-V-JET-D
ML16 ML16 ML16
PRO-Line
632-636 - ML16A-630-V-D ML16A-630-V-JET-D
ML12 ML12 ML12
E = ML12A-650-V-D ML12A-650-V-JET-D
ML16 ML16 ML16
PRO-Line
651R - ML16A-650-V-D ML16A-650-V-JET-D
?:— 6.8 ML12 ML12 ML12
I - ML12A-650RC ML12A-650RC-D -
ML16 ML16 ML16
PRO-Line
651R - ML16A-650RC-D ML16A-650RC-JET-D

12.80




<< MODU-Line <<< Main menu MODU-LINE

I Porte-plaquettes — Coupe déportée & contre-opération —
mEmmm WSP-Halter - Versetztes Schneiden & Gegenspindel ECO-Line m=
mmmm Insert holders - Cut off line & cut on subspindle I
Standard -D -JET-D
[ ]
(€ & - (£ © -
Art.N° Art.N° Art. N°
ML12 ML12 ML12
E ML12A-250-V ML12A-250-V-D ML12A-250-V-JET-D
ML16 ML16 ML16
ECO-Line
251-261 ML16A-250-V ML16A-250-V-D ML16A-250-V-JET-D

FZ: 75 ML12 ML12 ML12
27 - ML12A-250RC-D -
ML16 ML16 ML16
ECO-Line
251R - ML16A-250RC-D -

12.81




<< MODU-Line <<< Main menu

MODU-LINE

BN Modules d’arrosage I
s Kiihlmittelzufuhrelemente ML12/ML16 ===
s Coolant supply units ——

Raccord Buses d'arrosage ML12
Anschluss Kihlmitteldise
Connection Coolant nozzles Art. N°
P6G1/8 5/16" ML12-JET-5/16
ML16 Raccord Buses d'arrosage ML16
Anschluss Kihlmitteldise
= g 0 3x6 Connection Coolant nozzles Art. N°
Op 7/
@ @ Lx‘f:k P6G1/8 716" ML16-JET-7/16

buses optionnelles voir page 12.81
zusatzliche Diisen siehe Seite 12.81
optional nozzles see page 12.81

I Modules de serrage E—
I Spannelemente ML12/ML16 e
mmmm Clamping units I

ML12 ML16

Art. N°

Art.N°
ML12-FIX-12/14 ML16-FIX-16/16
I @ @ @ @ = ML16-FIX-16/16.5
- ML16-FIX-16/17
- ML16-FIX-16/20
= ML16-FIX-16/22
= ML16-FIX-16/24

ML12 ML16
© ©00
ML12-FIX-12 ML16-FIX-16

12.82




<< MODU-Line <<< Main menu MODU-LINE

I Buses d’arrosage I
T - T dd dd
mmmm Kiihlmitteldiisen 5/16 /7/16 JET
mmmm Coolant nozzles I
Références compatibles
Kompatible Artikeln
5/16" Art. N° Compatible items
6
ML-JET 5/16-1.0X6
ML12-JET-5/1.6
une buse ML-JET-5/16-1.6x6 est comprise
ML-JET 5/16-1.6X6 eine Dise ML-JET-5/16-1.6xé6 ist inbegriffen
a nozzle ML-JET-5/16-1.6x6 is included
D22
m / ML-JET 5/16-2.2X0
Références compatibles
Kompatible Artikeln
7/16" Art.N° Compatible items
ML-JET 7/16-1.0X6
ML16-KMX26-JET
ML16-JET-7/16
ML12-DECO10-JET
ML16-DECO13-JET
ML-JET 7/16-1.6X6 ML16-DEC020-JET
ML16-S20-JET
ML16-SWISS-ST26-JET

une buse ML-JET-7/16-3.0x6 est
comprise avec chaque article ci-dessus
ML-JET-7/16-1.6X24
eine Diise ML-JET 7/16-3.0x6 ist
mit jedem vorstehenden Artikel inbegriffen

a nozzle ML-JET 7/16-3.0x6 is
included with each above item

ML-JET-7/16-3.0X6

12.83




<< MODU-Line <<< Main menu

MODU-LINE
B Banc de préréglage [
ML12/ML16 wemm
[

s Voreinstellgerat
mmmm Presetting device
0.01

ML-PRESET-2

Porte-outil ML... / ML...-Master
Werkzeughalter ML... / ML...-Master
Tool holder ML... / ML...-Master

Art. N°

ML-PRESET-1
ML-PRESET-2

12.84




<< MODU-Line <<< Main menu MODU-LINE

BN Banc de préréglage —
mmmm Voreinstellgerit ML12/ML16 =
mmmm Presetting device I
Type Fabricant Machines Adaptateurs et jauges d’étalonnage
Typ Hersteller Maschinen Adapter und Einstellehre
Type Manufacturer Machines Adaptators and master gauges
C12/C16
L12-1M7
CITIZEN L12-2M10
M16 V/VIII
RO4
RO7
HANWHA XD20M
METAFIL D3/D10/D13
SB-12RG ;
ML12  STAR SR10-J .
SW-12RII
DECO07/10 - EvoDECO 10 ML12-AD1 ML12-AD2 ML12-MASTER
SwissNano/SwissNano 7
TORNOS DT13
CT20
GT13
B074
TSUGAMI B075
PO34
K12/K16/K12E/K16E
CITIZEN L16/L20
L20E

HANWHA  SL12/16
MANUHRIN  KMX 426/526/626/Swing 20-26 MM
SA-12/SA-16/SA-16R
SB-16
SB-16/20RG
SB-20C/E
SR-20J/SR-20RllI
SR-20J11-A/B
SR-16R/SR-20R/SR-20RII ML16/20-AD1 ML16-AD2 ML16-MASTER
SR-20RIII/SR-20J
SR-20RIV
SR-32J
SV-12/20/ SV-20R
SW-20R
DEC020/26 - EvoDEC020/32
SIGMA20/32
TORNOS DT26
6T26
6T32

ML16  STAR

DECO13-EvoDECO16

ML16 TORNOS
ST26 ML16-DEC013-AD1 ML16-DECO13-AD2  ML16-MASTER

12.85




<< MODU-Line <<< Main menu

MODU-LINE

BN Pieces de rechange I
I Ersatzteile ML12/ML16 wem
[

mmmmm Spare parts

ML12

Vis de fixation

Vis de réglage Vis de blocage
Einstellungsschraube Blockierschraube Befestigungsschraube
Setting screw Locking screw Fixing screw
Art. N° Art.N° Art.N°
ML12A-M5X0.5 ML-M4&X4-T ML12-M5XL20

(@ @ ° I

M £

Vis de fixation

Vis de réglage Vis de blocage
Einstellungsschraube Blockierschraube Befestigungsschraube
Setting screw Locking screw Fixing screw
Art. N° Art. N° Art. N°
I ML16A-M5X0.5 ML-M4&X4-T ML16/20-Mé6XL20
Art. N°
ML-205004

Butée a ressort
Federnde Schraube
Spring bumper

12.86




<< MODU-Line

BN Pieces de rechange
Emmm Ersatzteile

Emmm Spare parts

Porte-outils

Vis et clés pour le serrage des plaquettes
Schrauben und Schlisseln fiir WSP-Befestigung
Screws and keys for insert clamping

= —{F o

<<< Main menu

MODU-LINE

ML12/ML16

Halter
Holders
ML...250
V-M4X9-T15 C-T15 - - -
ML...260
ML...330
V-M2.5X7.8-T8 C-T8 - - -
ML...340
ML...630
ML...640 V-M4X9-T15
ML...650 C-T15 - - -
ML...650RC V-M4X6.5-T15
ML...660 V-M4X9-T15
ML...730 V-M3X7-T8
ML...730RC V-M3X5.5-T8
V-M3X4.5-T8
ML...730RC-R04
V-M3X7-T8 Cc-T8 - - -
V-M3X4.5-T8
ML...730RC-SWISS-NANO
V-M3X7-T8
ML...740 V-M3X7-T8
ML...750 V-M4X9-T15
ML...750RC V-M4X7.3-T15
V-M4X5.6-T15
ML...750RC-R04
V-M4X7.3-T15
V-M4X5.6-T15 C-T15 - - -
ML...750RC-SWISS-NANO
V-M4X7.3-T15
ML...760 V-M4X9-T15
ML...770RC-SWISS-NANO  V-Mé&X7.3-T15
ML...780 V-M4X9-T15
ML...SC...06 V-M2.5X5.8-T8 Cc-T8 - - -
ML...SC...09 V-M4X7-T15-1S0 C-T15 - - -
ML...-SD...07 V-M2.5X7.8-T8 ciTe
ML...-SD...07-D V-M2.5X5.8-T8
ML12...-SDJ..11 V-M4X7-T15-1SO
ML12...-SDN...1 C-T15 - - -
V-M4X9-T15-1SO
ML16...-SD...11
ML...-SV.. 11 V-M2.5X7.8-T8 -
ML...-SV..13 V-M3X7.3-T8-1SO
ML...-CUT16 - - CUT16RS-SET - -
ML...-CUT16-V - - CUT16LS-SET - -
ML...-CUT22 - - CUT22RS-SET - -
ML...-CUT16-V - - CUT22LS-SET - -
ML16...-ET... JET32 - - -
ML16...-ET... V-JET32 - - - V-M5X21-6P7-J C-6PEX-7.0

ML

...-BHK

V-BHK-M4X0.5-T8

12.87




	Sans titre

	<<< Main index: 
	Button3: 
	<< MODU-Line: 


